8. Find the work done by the force F(x) = (3. 0. N/m )x +90N 'when it moves an object fromx=2.0m to
x =3.0m 3107 3.002
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9. A40 kg object is attached to the end of a spring (k = 200 N/m) on a horizontal, frictionless surface.
Initially, it 1s at rest and the spring is at its equilibrium length. Then a 200 N constant force is applied along
the direction of extension of the spring. How far wﬂl the block move before 1t COITIQS to rest agam‘? (Use

“the work-energy theorem) * :

Big problems: (20 points each, drop the low one)
1. A 0.50 kg mass is swung on a vertical circle on a string which is 2.0 m long. Its speed at the top of its

motion is 5.5 m/s. Grawty acts down, as it so frequently does.
a) What is the tension in the strmg at the top of the motion?
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b) Use the work—energy theorcm to find the speed of the mass at the bottom of its motion.
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c) What is the tangential acceleration of the mass at a pomt where the strmg 1s horizontal and the mass is

moving downwards?
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"P he Plaﬁet Mongo orbits a double star system . Flambo A and B. The distance between Flambo A and B
is 2.00x10"" m, and each has a mass of 3. 00X103 kg. We can take Mongo’s orbit to be approximately

circular with radius 6. 001{1011 m, centered on the point exactly between Flambo A and Flambo B.
a) Find the magnitude of the gravitational force on Mongo when it is on the line joining Flambo A and

Flambo B. - FA Fg |—-> ﬁ..*:r é,.'&)( bi /-%
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